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(1) 2 ti% (Boolean Algebra)
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A B A-B| A+B A B
0 0 0 0 1 1
0 1 0 1 1 0
1 0 0 1 0 1
1 1 1 1 0 0
(3) & ti=e 7|2 34 o=
1) nshy A
«A+B=B+A
«A-B=B-A
2) A3H=
A+ B+C)=A+ B + C

A-B-O=@A-B-C
3) Bl

A-B+COCO=A-B+A-C
CA+B-O=MA+B- QA+ 0
4 BERY

A+ A=AEB

« A- A=A @03
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5) B

0

2
cA+ A=1
«A-A=0

6) &8
c A+ 0=AEB
cA+ 1=1
*A-0=0
cA-1=A

7) A2

« AB+ BC + CA =

2) A

DO A+A-B=A-(1+B) =A-1=A ZBED
@A+A-B=A-(1+B) =A-1=A »3

@ A+A-B=A+A)-(A+B) =1-(A+B) =A+B
@AA+B) =AA+A-B=A+A-B=A-(1+B) =A-1=A0®
®A-A+B) =A-A+A-B=0+A-B=A-B

® A-(A+A-B)=A-A+A-A-B=0+ A-B=A-B

AB + CA

@ Y = AB+AB+AB

= AB+B)+AB = A(1)+AB = A+AB = (A+A)(A+B) = 1-(A+B) = A+B

Y = A+AB+AC
= A(1+B+0) = A(1) = A
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1. 8 Hi==(Boolean algebra)7} 2% &t

7} A+ A - B=A
t} A+ A - B=A

LA - A=A
2k A - (A+B)=A
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2. =2|4] Y=AB+AB+ABE |45} AlZ] H2?
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